

11 دالة غير

$$a < 0 \quad (m-1)^r - \epsilon x^r (m-\epsilon) < 0 \quad |a^r + a^r| = 0 \Rightarrow a^r(a+1) = 0 \quad \begin{cases} a = -1 \\ a = 0 \end{cases}$$

(1)

$$(m-v)^r < 0 \quad (m=v)$$

$$\lim_{|q+1| \times |q^2-q+1|} \frac{\sqrt{r} |q+1|}{\sqrt{r}} = \frac{\sqrt{r}}{\sqrt{r}} \quad \frac{r \sin b}{r} = \frac{\sqrt{r}}{r} \rightarrow \sin b = \frac{\sqrt{r}}{r} \Rightarrow b = \left(\frac{\pi}{r} \right) \quad (1)$$

(الجيب العكسي)

$$\begin{aligned} 2q^r - aq - b &= 0 \rightarrow q=1 & \lim_{q \rightarrow 1} \frac{2q^r + aq + b}{q-1} & \text{is } 0/0 \text{ form} \\ 2q^r + aq + b &= 0 \rightarrow q=1 \end{aligned}$$

$$\begin{cases} 0 - a + b = 0 \\ 1 + a + b = 0 \end{cases} \Rightarrow \begin{cases} -ra = 0 \\ a = r \\ b = -r \end{cases} \quad \left\{ \left[\frac{-r-r}{r} \right] = -2 \right\}$$

$$\frac{r(q-a)}{-a} = 1 \Rightarrow f(0) = b(0 - [-0]) = 1 \cdot b$$

$$1 \cdot b = \frac{v}{r} \Rightarrow b = \frac{v}{r}$$

(2)

$$\frac{2q^r + aq + b}{a(1-r)} \xrightarrow{q=1} \frac{2q^r + a - r}{a(1-r)}$$

$$\lim_{a \rightarrow r} \frac{2q^r + a - r}{a(1-r)} = \frac{r}{-r(1-r)} = \frac{v}{r}$$

(3)

المركبة $z = a[x] + b[y] + a + b[a] + b(a+b)[x] + a + b + b[a]$

$$\left(\begin{aligned} a+b=0 &\Rightarrow f(x) = b[a] \\ \frac{a[a]}{f(a)} &= \frac{a[a]}{-a[a]} = -1 \end{aligned} \right) \quad (4)$$

$$f(a) = b[2^r - a2] - ra$$

$$\rightarrow b=0 \quad f(2) = -ra$$

$$\frac{a}{f(b)} = \frac{a}{-ra} = -\frac{1}{r} \quad (5)$$

$$\int_0^1 f(x) dx \Rightarrow \frac{r^2 + m}{-1} = r \quad \begin{matrix} ra + m = r & a^r + am + n = 0 & ra^r + am + n = 0 \\ a = r & m = -r & n = 1 \end{matrix}$$

$$f(a) = f(r) = a = 0$$

$$\Leftrightarrow \begin{cases} ra^r + am = 0 \\ f(ra + m) = 0 \\ n - m = 1 \end{cases}$$

$$\lim_{x \rightarrow k^+} f(x) = (1-a)(k) + (ra^r - 1)(-k-1)$$

$$\lim_{x \rightarrow k^-} f(x) = (1-a)(k-1) + (ra^r - 1)(-k)$$

$$\Rightarrow \begin{cases} ra^r + a - r = 0 \\ a = \begin{cases} -1 & \text{وحيث} \\ \frac{r}{r} & \text{حاسبه} \end{cases} \end{cases}$$

$$a = \frac{r}{r} \Rightarrow \lim_{x \rightarrow k^+} f(x) = -\frac{1}{r} \quad f(1r) = b \ln\left(\frac{r}{r}\right) \rightarrow -b = -\frac{1}{r} \quad b = \frac{1}{r}$$

$$\Rightarrow \frac{a}{b} = \left[\frac{\frac{r}{r}}{\frac{1}{r}} \right] = r \quad \checkmark$$

$$= \frac{|x-1| |x+m+1|}{|x-1| (m(x+1)) + 1} = \frac{|m+r|}{rm+1} \rightarrow \frac{m+r}{rm+1} = \frac{m}{m+r} \Rightarrow m \neq r$$

$$|m+r| (m+r) = m(rm+1) \quad (m+r)^2 = m(rm+1) \quad m = -1, \text{ و}$$

$$\lim_{x \rightarrow \frac{1}{r}} = \frac{v}{a} \quad \lim_{x \rightarrow -1} = \text{وحيث}$$

$$a^r + (m-r)a + a^r = 0 \quad a(a+1) = 0$$

$$a(a^r + a + (m-r)) = 0 \quad a = -1$$

$$m = r \quad \checkmark$$

$$\lim_{x \rightarrow \infty} \frac{\sqrt{r} |x+1|}{|x^r + 1|}$$

$$= \frac{\sqrt{r} |x+1|}{|x^r + 1|} = \frac{\sqrt{r}}{r}$$

$$\lim_{x \rightarrow \infty^+} \frac{x^r + x}{x^r + x} = \frac{r^2 + 1}{r^2 + 1} = \frac{1}{r}$$

$$\lim_{x \rightarrow \infty^-} = \frac{x^r + x}{x^r - x} = \frac{r^2 - 1}{r^2 - 1} = \frac{1}{r}$$

$$\frac{ra-1}{ra+r} = \frac{1}{a}$$

$$ra^r - a = ra + r$$

$$ra^r - ra - r = 0$$

$$a = \begin{cases} -1 & \text{وحيث} \\ \frac{r}{r} & \text{وحيث} \end{cases}$$

$$\lim_{x \rightarrow \frac{1}{r}} = \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + \frac{1}{r}} = \frac{\frac{2}{r}}{\frac{2}{r}} = 1$$

$$\lim_{x \rightarrow 0^+} \frac{x^r + |x|}{x^r + a|x|} = \frac{0}{0} \rightarrow \lim_{x \rightarrow 0^+} \frac{x^r + x}{x^r + ax} = \lim_{x \rightarrow 0^+} \frac{x(x+1)}{x(a+x)} = \frac{1}{a}$$

$$\lim_{x \rightarrow 0^-} \frac{x^r + |x|}{x^r + a|x|} = \frac{0}{0} \rightarrow \lim_{x \rightarrow 0^-} \frac{x^r - x}{x^r - ax} = \lim_{x \rightarrow 0^-} \frac{x(x-1)}{x(x-a)} = \frac{-1}{-a} = \frac{1}{a}$$

$$f(x) = \frac{x^r - 1}{x^r + r} = \frac{1}{a} \rightarrow x^r - a = x^r + r \rightarrow x^r - x^r - r = 0 \rightarrow \begin{cases} a = r \\ a = -\frac{1}{r} \end{cases} \times$$

$$a = r \rightarrow \lim_{x \rightarrow \frac{1}{r}} f(x) = \lim_{x \rightarrow \frac{1}{r}} \frac{x^r + x}{x^r + rx} = \frac{\frac{1}{r} + \frac{1}{r}}{\frac{1}{r} + 1} = \frac{\frac{2}{r}}{\frac{r+1}{r}} = \frac{2}{r+1}$$

ا- تفاضل‌ها را (بطل) و با به خرج راهم میزنند

مسئله ۱

$$\Delta = 0 \rightarrow (m+r)^r - f\left(\frac{m}{r}\right) \times r = 0 \rightarrow m^r + r m + r - 12 = 0 \rightarrow m^r - r m + r = 0 \rightarrow m = r$$

$$\lim_{x \rightarrow a} \frac{\sqrt{r x^r + r x + \frac{r}{r}}}{|r x^r + a^r|} = \frac{\sqrt{r(x^r + x + \frac{1}{r})}}{|r x^r + a^r|} = \frac{\sqrt{r} |x + \frac{1}{r}|}{|r x^r + a^r|}$$

$$r a^r + a^r = 0 \rightarrow a^r (r a + 1) = 0 \rightarrow \begin{cases} a = 0 \rightarrow \frac{0}{0} \times \\ a = -\frac{1}{r} \rightarrow \frac{\sqrt{r} |x + \frac{1}{r}|}{|r x^r + \frac{1}{r}|} = \frac{0}{0} \checkmark \end{cases}$$

$$\lim_{x \rightarrow -\frac{1}{r}} \frac{\sqrt{r} |x + \frac{1}{r}|}{r |x^r + \frac{1}{r}|} = \frac{\sqrt{r} |x + \frac{1}{r}|}{r |x + \frac{1}{r}| |x^r - \frac{1}{r} x + \frac{1}{r}|} = \frac{r \sqrt{r}}{r}$$

$$\frac{r \tan b}{\sqrt{-(-\frac{1}{r})}} = \frac{r \sqrt{r}}{r} \rightarrow \tan b = \frac{\sqrt{r}}{r} \rightarrow b = \frac{\pi}{4}$$